(-1,0)mx

1807

(0. -1



Example: ® 5\;/&

Find the exact value of Ian[::—f] 33'* Z T
- [ |

@E ya (4
jL T~ o, 7w

on (% b\ gt




R muu;p\usb\ﬁ ‘e ©Njugute




Double-Angle Identities no-t# € 2%""“ h S VA \
di Fferent From srale4

1. Use the identity sin(A + B) =sin Acos B+ cos Asin B to
create an i1dentity for sin(2.4).

200 = A1 H

solen)= s (AR
=SiNPrcos + oSV s

:Z‘S‘mﬂ‘(oSﬂ

Sin.A) = 2sialA) cos (A)



2. Use the 1dentity cos(A4+ B) = cos Acos B —sin Asin B to

.........

cos(2a) = (o8 (¥R
06(20) = COSW o5 — Sk ¢nk
rzua(’l.ﬁh =cos“f ~S*A ‘

3. Use the Pythagorean identity sin® 4 +cos® 4 =1 to write an
identity for cos(2.4) that contains only the cosine ratio.

Cssf?.or\ :(’ab?ﬂ ~S'nh s'\-n?ﬂﬂﬂfzn"f
. , S = [~G§ P
Cos(2R) = (o™ A ~ (1= cos "*\
Caslra)= cos R -\t Cos*A
l CGS(‘U\\ = 2cogt -




4. Write an identity for cos(2.4) that contains only the sine 2
ratio. , . g‘un"lﬂ % (05 A= ]
Cof Ay cad B~ Sin*hA Co$2Q = |-genlh
y 1 -t ?'
{b&.(?.'ﬂl\ < (\-—S\n ﬁ\ GnA

Cos (2R © 1~ Sup-sin A

‘ Cosl2m)* \- 2%ntA \




sin 260 = 2sin@cosé

cos 20 = cos”* @ —sin* @
cos 260 = 2cos* 6 —1
cos20=1-2sin” 6

2tan A
1 —tan” 4

tan(2A4) =



Examples:

Given that smrf?——% a:t}_g_cnsé?—— find tar(ZE»'
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Pg. 303

Your Turn .

Consider the expression — 10 2x S In‘{
cos 2x + 1

a) What are the permissible values for the expression? ""J? Cﬂs x

b) Simplify the expression to one of the three primary trigonometric 'x
ton

functions.
¢) Verily your answer from part b), in the interval [0, 2%), using

technology.

ﬁ\emgwﬁ except fon pecmisiable Ve e S
co2) 4| %O
Cos(2%) &\ 2}( [ X5 54Tk Kel ;Kt-‘g

2% % cos” (7)
oy x W L2k \eT

X35 aenet



. 2sXosX 2
_ snx (oS X

(a&(?'ﬁ ¥
Vil @SRl e
cos <X~ | +]
- 2 xcox¥
Rcos®x
- HNX
Ces X
= fanx

Sen(TX)
CRAA

tanx
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Proving Identities

Focus on...

« proving trigonometric identities algebraically
« understanding the difference between verifying and proving an identity

« showing that verifying that the two sides of a potential identity are equal for a given
value is insufficient to prove the identity



L
Examples: Prove the following identities: W LJ€ dM ‘I’ l’_/bu_} 13

1. sin x cotx = 2. ‘[’ﬂt{ Jl' Jﬂ "e
. 8N l:isl cotx =cos™ x Qqﬁ[ g;avj ﬁ"“ﬁ)ﬁd
s\awasx (X X

S
?
s, | ¢H XV only werk
on one Sicle

[
S cogx (oYK = (o8 X ¥a Ll on e
havdey $icle



~ N | =
2. cosx(secx —cosx)=sin" x eww{lfﬁ

Ewgphé
COsXSeex — €8 X

&L"ﬁ&- | - (u&'!)(
X

\—Ca&.t)(

StalX S{ﬂ2 X

Cos xlSec x=Cos) = Sin* X v/



3. cot" xese- x—col" x=cot” x

Bommen facter |

oy x (c m

coXtx (cor® X)
Cot' X

X X

l[
CGJ(Z\K(S(} ‘K.-(g}{ix = (O"’ X \/



4. tanx+cotx =secxcscx h‘n’ S‘*d? h"s Z'I.mej e t1J
CTUEEEES A herder Sl e wert wiky
ML G one 3¢ firsy

Qoa) = Onie teim

Siax (oSX
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gw  CO8X

CSOKGeCK o
Secxc&eX = SCCKESCK



HW:pg 306 #1, 2,4,5,7,11, 14,15, 16, 18, 20
and pg 314 #1-4



